

$$f(x) = r \left[\frac{x-r}{r} \right] + a \left[\frac{x+r}{r} \right] = r \left[1 - \frac{x}{r} \right] + a \left[\frac{x+r}{r} \right] = r \left(1 - \frac{x}{r} \right) + a \left(\frac{x+r}{r} \right)$$

$$\lim_{x \rightarrow r^+} f(x) = r(1+0) + a(0) = r$$

$$\lim_{x \rightarrow r^-} f(x) = r(1+1) + a(-1) = r - a$$

$$\Rightarrow \lim_{x \rightarrow r^+} f(x) = \lim_{x \rightarrow r^-} f(x) = \lim_{x \rightarrow r} f(x) \Rightarrow r - a \Rightarrow a = r \Rightarrow \left[\frac{a}{r} \right] = \left[\frac{r}{r} \right] = \boxed{0}$$

$\lim_{n \rightarrow (\frac{\pi}{2})^-} \{r \sin n - 1\} = \lim_{n \rightarrow (\frac{\pi}{2})^-} \{r \sin n\} - 1 = 0 - 1 = \boxed{-1}$

3 $\lim_{n \rightarrow -\frac{1}{r}} [n\pi - n] = \lim_{n \rightarrow -\frac{1}{r}} [n(\frac{-1}{n}) - (\frac{-1}{r})] = \lim_{n \rightarrow -\frac{1}{r}} [-1 + \frac{1}{r}] = \boxed{-1}$.
 چون داخل براکت ساده می شود نسبت درجه به درجه می شود بی نهایت پس باید بی نهایت را در $-\frac{1}{r}$ ضرب کنیم
 از $-\frac{1}{r}$ نسبت

$$\lim_{x \rightarrow \left(\frac{1}{r}\right)^-} \frac{1.2x - 0.1 \left\lceil \frac{r}{x} \right\rceil}{1.4x - \left\lfloor \frac{r}{x} \right\rfloor} = \frac{1.2x + 4}{1.4x + 1} = \frac{1}{0} = \boxed{-\infty}$$

$$x < \frac{1}{r} \Rightarrow x^r > \frac{1}{r} \Rightarrow \frac{1}{x^r} < r \Rightarrow \begin{cases} \frac{r}{x^r} < 1 \Rightarrow \left\lceil \frac{r}{x^r} \right\rceil = 1 \\ \frac{r}{x^r} > 1 \Rightarrow \left\lfloor \frac{r}{x^r} \right\rfloor = -1 \end{cases}$$

$$\Delta \quad \lim_{n \rightarrow 1^+} \frac{\sin^n n}{[n] + \cos n} = \lim_{n \rightarrow 1^+} \frac{\sin^n n}{1 + \cos n} = \lim_{n \rightarrow 1^+} \frac{\sin^n n (1 - \cos n)}{\underbrace{(1 + \cos n)(1 - \cos n)}_{1 - \cos^2 n = \sin^2 n}} = \lim_{n \rightarrow 1^+} (1 - \cos n) = \boxed{2}$$

$$4 \quad \lim_{n \rightarrow -1} \frac{\sqrt{1+n} - \sqrt{1+n^2}}{1 + \sqrt{n}} = \lim_{n \rightarrow -1} \frac{\sqrt{1+n} - \sqrt{1+n^2}}{1 + \sqrt{n}} \times \frac{\sqrt{1+n} + \sqrt{1+n^2}}{\sqrt{1+n} + \sqrt{1+n^2}} \times \frac{(1 + \sqrt{1+n} - \sqrt{1+n^2})}{(1 + \sqrt{1+n} - \sqrt{1+n^2})} = \lim_{n \rightarrow -1} \frac{-n-1}{1+n} \times \frac{1}{1} = \boxed{\frac{1}{1}}$$

$$y \quad \lim_{n \rightarrow 1} \frac{r_n - \sqrt{a + a}}{r_n - \sqrt{r_{n+1}}} \stackrel{\text{HOP}}{=} \lim_{n \rightarrow 1} \frac{r - \sqrt{(\frac{1}{r})}}{r - (\frac{1}{\sqrt{r+1}})} = \frac{r - \frac{1}{r}}{r - \frac{1}{r}} = \boxed{\frac{-y}{y}}$$

$\lim_{n \rightarrow 0} \frac{a + \sqrt{bn+c}}{n} = \frac{1}{f}$ با توجه به این فرض $a + \sqrt{c} = 0 \Rightarrow \sqrt{c} = -a \Rightarrow c = a^2$, $a \neq 0$
 $\stackrel{\text{Hof}}{=} \lim_{n \rightarrow 0} \frac{\frac{b}{\sqrt{bn+c}}}{1} = \frac{b}{\sqrt{c}} = \frac{1}{f} \Rightarrow \sqrt{b} = \sqrt{c} = -a \Rightarrow b = \frac{-a}{f} \Rightarrow \frac{ab}{c} = \frac{a \times \frac{-a}{f}}{a^2} = \boxed{\frac{-1}{f}}$

9 $\lim_{n \rightarrow -\infty} \frac{f + K[\frac{n}{r}] }{\sin n} = +\infty$ $\begin{cases} \lim_{n \rightarrow -\infty^-} \frac{f + K[\frac{n}{r}] }{\sin n} = \lim_{n \rightarrow -\infty^-} \frac{f - rK}{0^-} = +\infty \Rightarrow f - rK < 0 \Rightarrow \frac{f}{r} < K \\ \lim_{n \rightarrow -\infty^+} \frac{f + K[\frac{n}{r}] }{\sin n} = \lim_{n \rightarrow -\infty^+} \frac{f - rK}{0^+} = +\infty \Rightarrow f - rK > 0 \Rightarrow \frac{f}{r} > K \end{cases}$ 

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{b\sqrt{r+\sqrt{n}}-rb}{an-b} &= \lim_{n \rightarrow \infty} \frac{rb-rb}{na-b} \quad \text{مقامی صفر و صورتی صفر} \Rightarrow na-b=0 \Rightarrow b=na \quad (I) \\ &= \lim_{n \rightarrow \infty} \frac{b\sqrt{r+\sqrt{n}}-rb}{an-b} \times \frac{b\sqrt{r+\sqrt{n}}+rb}{b\sqrt{r+\sqrt{n}}+rb} = \lim_{n \rightarrow \infty} \frac{b^r(\sqrt{n}-r)}{an-b} \times \frac{1}{rb} \times \frac{\sqrt{n}+r+\sqrt{n}}{\sqrt{n}+r+\sqrt{n}} = \lim_{n \rightarrow \infty} \frac{b^r(n-n)}{an-b} \times \frac{1}{rb} \times \frac{1}{1r} \\ &= \frac{b^r}{a} \times \frac{1}{rb} \times \frac{1}{1r} = \frac{b}{rna} = \frac{na}{rna} = \boxed{\frac{1}{r}} \end{aligned}$$